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403 MHXSHHSA=0l& 29,761 0 29,761
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OFEEESHUT SFMLEAY
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M7 Z3tel2 22 At 2,500,000 2,500,000
403 MHXSHHSA=0l& 2,500,000 2,500,000
01 HXSHMA2E X 2,500,000 2,500,000
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403 MHXSHHSA=0l& 2,039,606 2,039,606
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& AR E A A

SH AEANLNHLES NG
HH: RS (ACANSNNESESEAE)
el WRAHAHXES(=CHMHEN=HXLSAMNLS LI A) (&)
= AN xH Ct2 = AH ME | OH El‘:E ) =2+
+CHMHE XSS 93,199,316 189,780,756 A 96,581,440
HWees(=CHMHHXNMEESEFIH) 9,405,000 9,161,000 244,000
HEHAHXE(ZHMSXNFHX LS BNLSES HA) 9,405,000 9,161,000 244,000
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O&EJ - AEH 32 A =& 7,000,000& 7,000
202 o4l 5,400 6,000 A 600
= LH 04 H 5,400 6,000 A 600
OMYEZE 38 S &0 5,400,000& 5,400
308 XXIEHH SOl 1,580,000 3,597,079 A2,017,079
07 IXNHHARE = 1,360,000 1,000,000 360,000
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1,000,000, 000& 1,000,000
Ost24 MASIX NSLH A2 XA
360,000,000 360,000
113/ 2SoHUHeZAEEALS I 220,000 0 220,000
O4+CAWLNAEE 2o &
220,000, 000& 220,000
403 XSS =0l & 2,539,000 1,580,000 959,000
02 B 2SOICHeH U2 X 2 &AM I 2,539,000 1,430,000 1,109,000
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01 Al& B 214,285 0 214,285
O3HABTMAC] S HFAIE EXAE D
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
T2 31,950,000 31,980,000 230,000
c2Y = 29,000,000 30,360,000 A 1,360,000
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